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7 100kN/mM%E#BZ 5 - -~ - -|3mEFBZD -~ - -| 100kN/m#%#8% % - -~ -|3mEEZD -~ - - -
s 1.00 | 0.00 ~ 326 41.59 | =4t | ooo ~ 326|226 12.10 Thlst 1.00 | 6.00 ~ 6.00 41.59 | =hH | 5.00 ~ 6.00| 2.26 12.10
2 100kN/mM%#BZ % - -~ - -|3mEFBZD -~ -| 100kN/m#%#8% % -~ -|3mEiBR D -~ - - -
s 1.00 | 0.00 ~ 723 91.99 | #nSt | 000 ~ 0.00| 1.70 912 st 1.00 | .00 ~ 929 91.99 | =hs | 5,00 ~ 929 1.70 912
3 100kN/mM%E{BZ % - -~ - -|3mEFBZD ~ -| 100kN/m#%#8% % ~ -|3m%EiBR D -~ - - -
st 1.00 | 0.00 ~ 723 91.99 | #nst | 000 ~ 0.00| 1.70 912 st 1.00 | .00 ~ 929 91.99 | =hs | 5,00 ~ 929 1.70 912
4 100kN/mM%E#BZ % - -~ - -|3mEFBZD ~ -| 100kN/m#%#8% % ~ -|3mEEZ D -~ - - -
ZhLst 1.00 | 0.00 ~ 627 7882 | #0000 ~ 627 1.75 9.38 zhLst 1.00 | 6.00 ~ 7.50 7882 | Ens | 600 ~ 730 1.75 9.38
5 100kN/mM%E#BZ % - -~ - -|3mEFBZD ~ -| 100kN/m#%#8Z% % ~ -|3mEEZD -~ - - -
s 1.00 | 0.00 ~ 6.40 80.46 | NS | 0.00 ~ 640 | 1.82 9.71 Thst 1.00 | 6.00 ~ 7.60 80.46 | =hs | 5.00 ~ 7.60| 1.82 971
p 100kN/m%E#Bz25 | 1.00 000 ~ 1.17| 117.70 |3mEHBZS ~ -1 100kN/mM%&#z25 | 1.00 | 1065 ~ 1458 117.70 |3m%E#z5 -~ - - -
s 1.00 | 117 ~ 896 100.00 | #nst | 000 ~ 896 | 2.11 11.31 Thst 1.00 | 6.00 ~ 10.65 100.00 | =nhLst | 6,00 ~ 1458|211 11.31
7 100kN/m%E#Z5| 100|000 ~ 099 11486 |3mE#EZ5 ~ -| 100kN/M%#B2% | 1.00 | 11.01 ~ 1458 | 114.86 |3m%EiBZ% -~ - - -
ThLst 1.00)099 ~ 877 100.00 | NS | 000 ~ 877|205 10.96 Zhst 1.00 | 500 ~ 1101 100.00 | #nsY | 6,00 ~ 14.58| 2.05 10.96
g 100kN/mZ#BZ25 | 1.00 | 000 ~ 099 114.84 |3mZEBZD ~ -1 100kN/m%&#Bz25 | 1.00 | 11.02 ~ 1458 114.84 |3m%E#Z5 -~ - -
FhLst 1.00 1099 ~ 877 100.00 | =hst | 0oo ~ 877|205 10.95 zhst 1.00 | 6.00 ~ 11.02 100.00 | =nLSt | 6,00 ~ 1458) 2.06 10.95
9 100kN/MZ#2Z % - ~ - -|3mEEBEZ S ~ -| 100kN/mM%#8 %% ~ -|13mEEZ S -~ - -
ZhLst 1.00 | 0.00 ~ 643 80.89 | =nst | 0.oo ~ 000\ 1.567 8.38 FhLst 1.00 | 6.00 ~ 8560 80.89 | #nLs | 5,00 ~ 8560 | 1.67 838
100kN/M%#8Z % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#2 2 % ~ 3ImEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEBRD ~ 100kN/mM%E# 25 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zhust ~
100kN/MZ#82 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zhust ~




